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X8142
0 x 8142 = 0

1 x 8142 = 8142

2 x 8142 = 16284

3 x 8142 = 24426

4 x 8142 = 32568

5 x 8142 = 40710

6 x 8142 = 48852

7 x 8142 = 56994

8 x 8142 = 65136

9 x 8142 = 73278

10 x 8142 = 81420

11 x 8142 = 89562

12 x 8142 = 97704

13 x 8142 = 105846

14 x 8142 = 113988

15 x 8142 = 122130

16 x 8142 = 130272

17 x 8142 = 138414

18 x 8142 = 146556

19 x 8142 = 154698

20 x 8142 = 162840

21 x 8142 = 170982

22 x 8142 = 179124

23 x 8142 = 187266

24 x 8142 = 195408

25 x 8142 = 203550

26 x 8142 = 211692

27 x 8142 = 219834

28 x 8142 = 227976

29 x 8142 = 236118

30 x 8142 = 244260

31 x 8142 = 252402

32 x 8142 = 260544

33 x 8142 = 268686

34 x 8142 = 276828

35 x 8142 = 284970

36 x 8142 = 293112

37 x 8142 = 301254

38 x 8142 = 309396

39 x 8142 = 317538

40 x 8142 = 325680

41 x 8142 = 333822

42 x 8142 = 341964

43 x 8142 = 350106

44 x 8142 = 358248

45 x 8142 = 366390

46 x 8142 = 374532

47 x 8142 = 382674

48 x 8142 = 390816

49 x 8142 = 398958

50 x 8142 = 407100
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